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2. (15 points)
Companies A, B, and C each owns items of equipment. As January 1, X1, the
equipment is carried on the books of the respective companies as follows:
Original Cost $ 100,000 $ 140,000 $ 90,000
Accumulated Depreciation (30,000) (60,000) (36,000)

The exchange between the three companies lacks commercial substance. The three
companies agree to exchange these items of equipment with Company A receiving
the Company B equipment, Company B receiving the Company C equipment, and
Company C receiving the Company A equipment. Furthermore, Company A will pay
$24,000 cash to Company B, and $12,000 cash to Company C. Itis determined that
the fair market value of the Company A equipment at the time of the exchange
transaction is $60,000. Because of the inter-dependent nature of the exchange
arrangements, and contractual documentation created at the time of the agreement,
the equipment exchanges are considered to be single transaction for financial
accounting.

{Required) :Prepare the entries required by Companies A, B, and C to record the

exchange of assets for financial accounting.

Please follow Emerging Issue Task Force (EITF Issue No. 86-29) rules.
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